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1. , ,x y z  are in GP 

 
2y xz   

 2log log logy x z   

 logy logz logx logy    

 (1 logy) (1 logz)    

 (1 logx) (1 logy)     

 1 log ,1 log ,1 logx y z    are in AP 

  
1 1 1

, ,
1 log 1 log y 1 logx z  

 

 are in HP 

 Hence (b) is the correct option. 

 

2. 1 2 10, ,........a a a  be in AP 

 1 2 10,h ,........hh  be in AP 

 If 1 1 2a h   and 10 10 3a h   then 4 7 5a h   

 Hence (c) is the correct option 

 

3. If 
50(1.05) 11.658  then 

 

49
2

1

(1.05) 10.5 (1005)n

n

  
3 49(1.05) .......... (1.05)   

 

49(1.05) (1.05) 1

1.05 1

  


 

 

50(1.05) 1.05 11.658 1.05

0.05 0.05

 
   

 212.16  

 Hence (c) is the correct option. 
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4. .  are the roots of 
2 0x x p    

 1    

 p    

 ,   are the roots of 
2 4 0x x q     then 

 , 4    

 q   

 , , ,     are –2, –32. 

 Hence (a) is the correct option. 

 

5. The sum of first 2n terms of 2, 5, 8.............. 

  
2

[4 2 1 3]
2

n
n    

   26 1 6n n n n     

 The Sun of first n terms of 57, 59, 61………… 

 =  [104 1 2]
2

n
n   

 [2n 102]
2

n
   

   251 51n n n n     

 
2 26 51n n n n    

 
25 50n n   

 10n   

 Hence (a) is the correct option. 

 

6. 
2

1 1 1 1
1 .......

2 3 4 2 1
na      


 

 2

3
2

2
a    

 3

1 1
1 2

2 3
a      



 

4 

 4

1 1 1
1 3

2 3 4
a       

 200 00

1 1 1 1
1 ......... 100

2 3 4 2 1
a


      


 

 Hence (b) is the correct option. 

 

7. a x  

 5 5
1 1

a x

r r
  

 
 

  5 1x r    

 for an infinite G.P. 

 1r   

          1 0r   

          5(1 r) 0   

          0x   

 Hence (b) is the correct option. 

 

8. If , ,a b c  are in A.P. 

 2B a c    

 If  1
2 3

1
1, log 3 2,log 4.3 1

2

x x    

 are n AP 

 
1

3 3log 3 log 9x   3
3 3log log 4.3 1x    

  1 2
3 3log 3 3 log 2 4.3 1x x    

 
3

3log 3 x
 

1
3log 3 3x    

 
3 13 4.3 3x x     

 
4
3logx   

 Hence (a) is the correct option. 
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9.  
13

1

1

1n n

n

i i i



    

      2 2 3 13 141 ..........i i i i i       

  2 3 13 142 .......i i i i i       

 i   

 Hence (c) is the correct option. 

 

10. The roots of the equation 

      25 2 4 5 8 2 5 0x x       

 are ,   

 Then  
4 5

5 2
 


 


 

 
8 2 5

5 2
 





 

 Harmonic mean of 
2

,


 
 




 

 

 
 

 

8 2 5

5 2
2

4 5

5 2









 

 

 
4 5

4
4 5

 
 

 
 

 

 4  

 Hence (b) is the correct option. 
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11. If 
1 1

1 ..........
1 2 1 2 3

ns    
  

 

  
1

1 2 3 2007


  
 

 then nt  

 
1 2 1 1

(n 1) n(n 1) 1

2

n n n

 
       

 

 
1 1

2
1

ns
n n

 
    

 

 
1 1 1 1 1 1

2 ........
1 2 2 3 2007 2006

 
       

 
 

   
1

2 1
2008

 
  

 
 

   
2007 4014

2
2008 2008

 
  

 
 

 Statement 1 is true 

 Statement 2 is true and Statement 2 is correct explanation for 

Statement 1. 

 Hence (a) is the correct option. 

 

12. 2a   

 
1

5 10 (5a 35d)
4

a d    

 20 40 5 35a d a d     

 15 5 0a d    

 30 5 0a d    

 6d   
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  20t   2 (20 1)( 6)     

 2 114 112     

  Statement I is true 

 Statement 2 is true 

 Statement 2 is a correct explanation for Statement 1. 

 Hence (a) is the correct option. 

 

13. 1s n        
2

2s n          
3

3s n   

 Then     3 11 8s s  

 
 

22 1 (n 1)
1 8.

4 2

n n n  
  

 
 

 

2 2(n 1)
(1 4n(n 1))

4

n 
    

 

2 2
2(n 1)

(2n 1)
4

n 
   

 

2 2 29 (n 1) (2n 1)

36

n  
  

 

2
(n 1)(2n 1)

9
6

n   
  

 
 

  2 2
29 9n s    

 Statement 1 is true. 

 Statement 2 is true. 

 Statement 1 is a correct explanation for the Statement 1, 

 Hence (a) is the correct option. 

 

14. 
1 1

450 50(r)4n
na t r t     

 1350 50 3  

 
1350

3
50

  

 3r   
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 5th term = 
4

5t ar  

 
450 (3)   

 50 81 4050    

 Statement 1 is true. 

 Statement 2 is true. 

 Statement 2 is a correct explanation for the Statement 1. 

 Hence (a) is the correct option. 

 

 

 

 

15. The relation between A.M., G.M. and HM is     

 
2G AH  

 Since if a and 6 are numbers 

 Then    G       =       ab  

  A      =      

2

a b
 

  H      =     
2ab

a b
 

  G2    =       ab  

  AH    =        
2

2

a b ab

a b





 

       
2G AH   

 Hence (b) is the correct option. 

 

16. 1 2 3, , , .............. ,na A A A A b  are in AP 

 (n 2 1)db a     

 (n 1)db a    

 (n 1)db a    

 

1

b a
d

n





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 common difference 

1

b a
d

n





 

 Hence (c) is the correct option,        

 

17. 1 2
1 2

....
....n

n

a a a
n a a a

n

  
  

 

1 2

1 1 1
.....

n

a a an



  

 

 i.e. 1A G    

 Hence (a) is the correct option. 

 

18. 
2 3

1 2 31 , ,S S n S n S n     

 
2
2 3 19 (1 8S )S S   

 Hence (b) is the correct option. 

 

19. 2 2 2 2 21 2 3 4 ......... 1999      

 
2 2 2 2 2 2 21 (3 2 ) (5 4 ) ......... (1999 1998 )       

1 2 3 4 5 .......... 1998 1999         

 
(1999 1)

1999 19,99,000
2


   

 Hence (b) is the correct option. 

 

20. 
2 2 2 2

1 1 1 1
1 1 1 1

2 3 4 5

    
       

    
 

 
2

1 1
........... 1

2

n

nn

 
  

 
 

 
2 2 2 2

1 1 1 1
1 1 1 1 ......

2 3 4 5

    
        

    
 

   
2

1 2007
1

40122n

 
  

 
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 Hence (a) is the correct option. 

 

21. 
100(100 1)

100
2


   

 50(101) 5050   

 Hence (a) is the correct option. 

 

22. 1, 4, 7,................... 

 1, 3, 715na d S    

 [2a (n 1)d]
2

n

n
S     

 715 [2 (n 1)3]
2

n
    

 1430 [3n 1]n   

 
23 1430 0n n     

 22n   

 Hence (b) is the correct option. 

 

23. Multiple of 3 between 1 and 100 are 

 3, 6, 9, ................... 99 

    3 + 6 + 9 + ................... + 99 

 
3 99

33
2

 
  

 
 

 
102

33
2

   

 1683  

 Hence (a) is the correct option. 

 

24. 2,2 2,4,.............  

 First term a = 2, common ratio = 2  

 
thn  term nt  

1. na r   

 
164 2.(r 2)n  
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  
1

32 2
n

  

 
5 1

2 2
2

n
  

 1 10 11n n     

 Hence (c) is the correct option. 

 

25. First term = a = 50 

 
3

4 1350t ar   

 
3 1350

27
50

r    

 3r   

 5th
 term 

4 4
5 50 (3) 4050t ar     

 Hence (a) is the correct option. 

 

26. 6th term 
5

6 24t ar   

 13th
 term 

13 12 3

16
t ar   
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5

1

1 8
24 1624

3 1

16 128

ar

ar

    

 
7 1

7
r   

 
1

2
r   

 
1

14
32

a
 

 
 

 

 24 32a    

 25th
 term            

24ar  



 

12 

 
24

1
24 32

2
    

 

3 5

24

3 2 2

2

 
  

 3 2   

 
163 2   

 Hence (b) is the correct option. 

 

 

 

27.  

  

28.  

  

29.  

  

30.  

  


